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Solutions

Nov 20-18:35

1. Each of the following are transformations of f(x) = 3*. Describe each
transformation.
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a) g(x) =3 +3 o glx) = 3(3"]
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2. For each transformation, state the base function and then describe the
transformations in the order they could be applied.
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7. A cup of hot liquid was left to cool in a room whose temperature was 20 °C.
The temperature changes with time according to the function

(e) = 80(%}* + 20. Use your knowledge of transformations to sketch this

function. Explain the meaning of the y-intercept and the asymptote in the

Rncher

context of this problem.
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9. Match the equation of the functions from the list to the appropriate graph at

the top of the next page.
9 g(x) = —G) 43

d) h(x) = 2@)x +3

) f(x) = —G)_x +3
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10. Each graph represents a transformation of the function f (x) = 2*. Write an
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